Efficiency vs dr

0.2

B aRaN| T

_origmal_
M_pixelCPE

Step. ar-p
Template_ste

2t
M_pixelCPETemplateCut hiSquarel5

T-newgeom
tbar-phasel-newgeom

step2_ttbar-phasel-newgeom

asel-newgeom_test

R

pixel CPETemplateCutChiSquare5_step2_ftbar-p

=
o

w

1072

[ Efficiency vs dr (track,jet) |

1
TP min AR

§0.01
.009
£
Q.OOS
9.007
>
®.006
Q
i15=6.005
)
0.004

0.003F
0.002F-
0.001F-
fe) OF
T 15— -----------------
@ 0.9;— .............
0.8;— ..............
0.7:3
10 107 107
AR(TP, jet)

Efficiency vs pu

50.02
o
9.018

9.016F

(]
'©.014
=

®.012

0.01F

0.008
0.006
0.004
0.002

.............

.............

..........

..........

Pileup

60 70 80 90 100




	Contents
	Page 1


